SUMMER MATH PACKET FOR STUDENTS RISING TO GEOMETRY
Provided by Cox Math Tutoring

Directions: Complete the following problems without the use of a calculator, unless the problem is accompanied

E)

by a calculator icon: |

1. Solve the following linear equations.
11. —12 =3 — 2k — 3k 24 = 6(— x — 3)

K=3 )(:—7

12, 6 =—3(x + 2) 12(2k + 11) = 122k + 12)
X=-U no Soluton
13. — 16 + 5n=— 7(— 6 + 8n) + 3 —12(x — 12) = — 9(1 + 7%)

= | X=-3

14. —10n +3(8 +8n) = — 6(n — 4) — 11 + 10(p + 10) = 4 — 5(2p + 11)

n-o0 /0: _‘7_

2.  Find the slope-intercept equation of the line:
21. 3x — 2y =16

~Ju = -3)("'14)




2.2. through (1, 2); slope =7

2.3. through (4, 2); parallel to the line y =

2.4. through (20,8)and (9, 16)
- -2 c D
g-1 -]
3.  Sketch the graph of each line.
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3.1. 6x + 5y =20
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4. Solve the following proportions.

4.1. 4 7

n+2 n

L{m: 7(“‘\"2)

- 14
=3
43. ==
1o (% -3) = T+

K=z 30

—32x -5

4

j_% - "‘—?l ()( - Z,D\

10x — 3y = 15 /
AV

r—=9 ~ 145

S(rx5)= < (‘“"ﬂ
r=1



5. Multiply.

51. —4x(x —5x+7)
~ '—h + 20X%_28x
53.  (x — 4)°
(< —)(*- ) =x=gx 41l
6.  Factor completely

6.1. 4k" + 20k — 96

4 (K% + 51— 24)
Y (kv €)( le-3)

6.3. 6x — 45x + 21

3(27(7--—\Sx ‘\‘73
Jax— 1\~ 7

6.5. 9x — 25

(% +5)(2%°5)

6.7. x*+ 13x + 30

(*rtoY K +3)

54. (5x + 2)°

2Sx® + 20K +4

6.2. 6n + 42n — 48

A ,_g)
Gn=1)(n+g)

4x—1

(?Wﬂxbxq

6.6. b>— 19b + 90

(o-10)(6-9)

7. Use the zero product property to solve each equation.

71, (x—-4Hx—-3) =0
)Q-Ltco X-3=0°
X = Lt 5(;3

72. x(x+13)=0

X €O Xx+13 =0
X= —(3



8. Solve each quadratic equation by factoring.

X' +2x —15=0 2. X -5x—-6=0
(K'*S)(K 53 o (X Q_,)(K‘l‘l\ =D
X= - 5 X< 3 b )(»—-'

9. Solve using square roots.

X=*¢

9.2.  (x - 2)° =900

9.1.

X-2 =72 3o K.u-z. > 2 2 *2
10. Name the angle relationship: complementary, supplementary, vertical, or adjacent.
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10.3. CON\?\CW\QV‘XW‘V\Y 10.4. QA\B aC EI/\'\—'

10.1.




